N2'WT OY A7'Y-NIMNNANTE NITDMYN NI NINY

NINY

TP2PIYN NWT AW UNID WY NIPYI 021230 92 Y¥N I NN npnon 79ya (1) N
LOUNY W 0.1% D2TaND 01200 MY 225 .10239) INXY DYy 2290
LDWRA WD 0.2997% 03220 1TAN? DNNY OIWY 200 DY 111023 NIYI NSD
JP22WN NN NTON IND IT) MIYYN 190N N7V NMTIN 9D O8N 0D NN) (2)
DWW 100,000 DYOYIN DTS2 1PN DNON D12
I 15,000 D290 DNY m MAYd
1T SY MY 1900 MY 95 2T) DWINN N2 m MYSHNIA Yan
f ”(x) =(2X—i12 +e TIYN NN NMIPND N A
f(x) NN NSO . (0,3) T2 NP TP W f(x) NPNAY

((D92°V0N P2 WP PN)

[NND

t
DDA TINT 1 DIN NI m, NN WIPS I my=mg-a INomn (1) N

=1 -0297 _ 997 , t=7

a=1 0.999 | my = 100

0.1 _
100 =
t
0.9971=1.0999 = t=I00IL - t=3,..
(2)

1
m, = 100,000 , my, = 115,000 = 115,000 =100,000-a" = a =115 /( )"

1 1
a=115" =1+, = p=100-1.15" — 100

174 - 1 7 _ 1 L I
f (Xjfw—f-e = f (X) 7f(w+e) dx = —2(2)(_1)—,‘—6)(—"—01

/
fro=0 = ferUJrcI:(} = lic=0 = ¢ =-

bol—

) . ; . ; 2
f(x) =/ ff(x) dx = [ (ferex—%) dx:—%i In|2x—1 /+%féx+02

— 1 — -
flo)=3 = —3MN1+0-0+c,=3 = ¢C,=3

= ) =-dn|2x—1]+9% —~3x+3



